50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Define protocol. List and explain k
With a necessary diagram correlati
List and explain different addre

(05 Marks)
(10 Marks)
(05 Marks)

pooP

(05 Marks)
Identify the different / (05 Marks)
A telephone line has ‘a,ba i 581gned for data communication. The SNR

ratio is 3162. Caleulafe the capacity of the channel. (SNR refers to signal to noise ratio).
(05 Marks)
(05 Marks)

e g

Au

(02 Marks)
(04 Marks)
(08 Marks)
(06 Marks)

po op

Given dataword “1010” @meor “1011”. Us. (06 Marks)

Wlth a necessary dlagga; sexplain structur

ep

(10 Marks)

(04 Marks)

Back N-ARQ protocol with selective repeat ARQ. (10 Marks)
la] nk layer. (05 Marks)
and wait ARQ system, the bandwidth of the line is 1 Mbps and 1 bit
ound trip. What#is the bandwidth delay product? (05 Marks)

(08 Marks)
(04 Marks)
(08 Marks)

(10 Marks)
(10 Marks)

a. d"ho (05 Marks)
b. Compare and%ﬁ%trast the ﬁelds in the main headers of IPV4 and IPV6 protocols. (10 Marks)
¢, Change the f@llowmg IPV4 addresses from dotted decimal notation to binary notation:

11) 221.34.7.82 (05 Marks)

k %k k %k %




